(<4
CAMOZ2! HSIRH T > GB RFI{TERSE = angR

Automation

G > 11.0

GB % 5I1TE mES

4% 40,60, 80,120

i

g » BIEHLH

] » FFiZEHE MTB Z5IF0 MTS 25
s Bl

[IxaN —_

K& ) ) > B ERE

© = o= > 4 FhEEL (i=3,5,7,10)

» IBITE R SR

» EEMBERE

» kABER

» HEZRRIFNIE 3T BUA] 1%

GB RITERRBRBL N B TERE GB RFIH MmARMAE . 12 4t FomkE
Mg, STEZEEEN, B/ NAEEMRE  tb. BRMERATHERE, BLIMER
W NE, THRTERRMEMSE SVAOER B, MALAYESHANMNEE, SMIB
FUEREL. RHFMTS RIEHEEEM,

2/4.40.01 AADRBIF [ALONH, MEXE, BFBHEA
sl A RAT LY, EihE LY HE
405 BARKAHE R TERAL DM



¢«
FREaRE> 110 ST > GBRINTEMEs  CAMOZZ

Automation

GB RI{TERESR RS

B - | 00 | - | 03 | - Db | - | 0100

G B RS
040 300w

060 = @60
080 = @80
120 = @120
03 AL (i)
03-3 o
05=5
07=7 Hﬁ)
10=10 =
o o
D= HLR A
A=IFx%E =~
0 1 0 0 ::E5 B3 N&
0100 = ERIEAL 100W ({XH4% 040) %

0400 = TR AL 400W ({45 060)
0750 = TRIEEHL 750W ({X##% 080)
1000 = £ /IEB41 1000W ({X#4% 120)
0024 = Nema 24

KATREN * RAHORF, MERE, RFBFEA 2/4.40.02
AP RAT TURE, B0t T bREHE —
BRSNS EEHTERAADMBEN 406



¢«

CAMOZZI

Automation

GB RFTTE R

HSIRETIE > GB RIIITERIESS

| egnrEREs

FREERE > 11.0

47 LS EA
OM .
== - - o 8

R+t

e RE¥H®K DS 1S D 1 C TCxDeep EA EB ,DG DM (M TMxDeep  FRE (kg)
GB-040-03-D-0100 <15’ 10 26 26 2 34 Mé4x 6 67.5 40 40 8 45 M3x8 0.35
GB-040-05-D-0100 <15’ 10 26 26 2 34 Mé4x 6 67.5 40 40 8 45 M3x8 0.35
GB-040-07-D-0100 <15’ 10 26 26 2 34 Mé4x 6 67.5 40 40 8 45 M3x8 0.35
GB-040-10-D-0100 <15’ 10 26 26 2 34 M4 X 6 67.5 40 40 8 45 M3x8 0.35
GB-040-03-D-0024 <15’ 10 26 26 2 34 M4 X 6 63.5 60 40 8 66.7 M4 x 10 0.35
GB-040-05-D-0024 <15’ 10 26 26 2 34 M4 X 6 63.5 60 40 8 66.7 M4 x 10 0.35
GB-040-07-D-0024 <15’ 10 26 26 2 34 M4 X 6 63.5 60 40 8 66.7 M4 x 10 0.35
GB-040-10-D-0024 <15’ 10 26 26 2 34 M4 X 6 63.5 60 40 8 66.7 M4 x 10 0.35
GB-060-03-D-0400 <10’ 14 35 40 3 52 M5x8 78 60 60 14 70 M5 x 12 0.9
GB-060-05-D-0400 <10’ 14 35 40 3 52 M5x 8 78 60 60 14 70 M5 x12 0.9
GB-060-07-D-0400 <10’ 14 35 40 3 52 M5x8 78 60 60 14 70 M5 x 12 0.9
GB-060-10-D-0400 <10’ 14 35 40 3 52 M5x 8 78 60 60 14 70 M5 x 12 0.9
GB-060-03-D-0024 <10’ 14 35 40 3 52 M5x8 71 60 60 8 66.7 Mé x 10 0.9
GB-060-05-D-0024 <10’ 14 35 40 3 52 M5 x 8 71 60 60 8 66.7 M4 x 10 0.9
GB-060-07-D-0024 <10’ 14 35 40 3 52 M5 x 8 71 60 60 8 66.7 Mé x 10 0.9
GB-060-10-D-0024 <10’ 14 35 40 3 52 M5 x 8 71 60 60 8 66.7 Mé x 10 0.9
GB-080-03-D-0750 <7 20 40 60 3 70 M6 x 10 103.5 80 80 19 90 M6 x 15 2.1
GB-080-05-D-0750 <7 20 40 60 3 70 M6 x 10 103.5 80 80 19 90 M6 x 15 2.1
GB-080-07-D-0750 <7 20 40 60 3 70 M6 x 10 103.5 80 80 19 90 M6 x 15 2.1
GB-080-10-D-0750 <7 20 40 60 3 70 M6 x 10 103.5 80 80 19 90 M6 x 15 2.1
GB-080-03-D-0024 <7 20 40 60 3 70 M6 x 10 93.5 80 80 8 66.7 Mé x 10 2.1
GB-080-05-D-0024 <7 20 40 60 3 70 M6 x 10 93.5 80 80 8 66.7 Mé x 10 21
GB-080-07-D-0024 <7 20 40 60 3 70 M6 x 10 93.5 80 80 8 66.7 Mé x 10 2.1
GB-080-10-D-0024 <7 20 40 60 3 70 M6 x 10 93.5 80 80 8 66.7 Mé x 10 21
GB-120-03-D-1000 <7 25 55 80 4 100  M10x1l6 1365 130 115 24 145 M8 x 18 6
GB-120-05-D-1000 <7 25 55 80 4 100  M10x1l6 1365 130 115 24 145 M8 x 18 6
GB-120-07-D-1000 <7 25 55 80 4 100  M10x1l6 1365 130 115 24 145 M8 x 18 6
GB-120-10-D-1000 <7 25 55 80 4 100  M10x1l6 1365 130 115 24 145 M8 x 18 6

2/4.40.03
407

A ERE XS 7 @ U AR
A RAT IS, FikEdETLuEES
BAFRMEERFTERLATMNEER

MEEE, BASBTEA



FREERA > 11.0

| Exniresss

BSIRE T4 > GB RFI{TERIES

M x Deep D 3
\ 3
i | o _TC x Deep
= & a Ey -
I | »
X B LC
M LS EA

Rt
i) Rf#l DS 1S DC'  LC CC TCxDeep EA EB EC ,DG DM M  TMxDeep RE (kg)
GB-040-03-A-0100 <21 10 26 26 2 34 M4 X6 84 40 67 40 8 45 M3 X7 0.51
GB-040-05-A-0100 <21’ 10 26 26 2 34 M4 X6 84 40 67 40 8 45 M3x7 0.51
GB-040-07-A-0100 <21’ 10 26 26 2 34 M4 X6 84 40 67 40 8 45 M3 X7 0.51
GB-040-10-A-0100 <21 10 26 26 2 34 M4 X6 84 40 67 40 8 45 M3x7 0.51
GB-040-03-A-0024 <21' 10 26 26 2 34 M4 X 6 84 60 63 40 8 66.7 M4 x7 0.51
GB-040-05-A-0024 <21' 10 26 26 2 34 M4 X 6 84 60 63 40 8 66.7 M&x7 0.51
GB-040-07-A-0024 <21’ 10 26 26 2 34 M4 X 6 84 60 63 40 8 66.7 M4 x7 0.51
GB-040-10-A-0024 <21 10 26 26 2 34 M4 X 6 84 60 63 40 8 66.7 M4 x7 0.51
GB-060-03-A-0400 <16' 14 35 40 3 52 M5 x 8 112 60 92.5 60 14 70 M5 x 12 17
GB-060-05-A-0400 <16' 14 35 40 3 52 M5 x 8 112 60 92.5 60 14 70 M5 x 12 17
GB-060-07-A-0400 <16' 14 35 40 3 52 M5 x 8 112 60 92.5 60 14 70 M5 x 12 17
GB-060-10-A-0400 <16' 14 35 40 3 52 M5 x 8 112 60 92.5 60 14 70 M5 x 12 17
GB-060-03-A-0024 <16' 14 35 40 3 52 M5 x 8 71 60 85.5 60 8 66.7 M4 X 10 17
GB-060-05-A-0024 <16' 14 35 40 3 52 M5 x 8 71 60 85.5 60 8 66.7 M4 X 10 17
GB-060-07-A-0024 <16' 14 35 40 3 52 M5 x 8 71 60 85.5 60 8 66.7 M4 X 10 17
GB-060-10-A-0024 <16' 14 35 40 3 52 M5 x 8 71 60 85.5 60 8 66.7 M4 X 10 17
GB-080-03-A-0750 <13 20 40 60 3 70 M6 X 10 144 80 119.5 80 19 90 M6 X 15 44
GB-080-05-A-0750 <13 20 40 60 3 70 M6 X 10 144 80 119.5 80 19 90 M6 X 15 44
GB-080-07-A-0750 <13 20 40 60 3 70 M6 X 10 144 80 119.5 80 19 90 M6 X 15 44
GB-080-10-A-0750 <13 20 40 60 3 70 M6 X 10 144 80 119.5 80 19 90 M6 X 15 44
GB-080-03-A-0024 <13 20 40 60 3 70 M6 X 10 144 80 109.5 80 8 66.7 M4 X 10 44
GB-080-05-A-0024 <13 20 40 60 3 70 M6 X 10 144 80 109.5 80 8 66.7 M4 X 10 44
GB-080-07-A-0024 <13 20 40 60 3 70 M6 X 10 144 80 109.5 80 8 66.7 M4 X 10 44
GB-080-10-A-0024 <13 20 40 60 3 70 M6 X 10 144 80 109.5 80 8 66.7 M4 x 10 44
GB-120-03-A-1000 <11’ 25 55 80 4 100 M10x16 1945 130  160.5 115 24 145 M8 x 18 12
GB-120-05-A-1000 <11’ 25 55 80 4 100 M10x16 1945 130  160.5 115 24 145 M8 x 18 12
GB-120-07-A-1000 <11’ 25 55 80 4 100 M10x16 1945 130  160.5 115 24 145 M8 x 18 12
GB-120-10-A-1000 <11’ 25 55 80 4 100 M10x16 1945 130  160.5 115 24 145 M8 x 18 12
RATHREN = GHENAF], METE, RSB 2/4.40.04
B @ AT TS, ik miE T USRS .
BRAFRNBEFETEREATNESNE 408

<

CAMOZZI

Automation

o

/

GB RFFTE





